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This exam relates to Scholastic Aptitude Test.

It Consists of questions related to Science,
Mathematics and Social Science.

Each question carries one mark. All questions

are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer

sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.
Do not nse white fluid on OMR Answer Sheet.

Half an hour extra should be given to visually
impaired candidates only.
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10" <2)
3 10" (4) le"
| - Jos.
Thevnitagecanbem&mas
(1) - Workdone X charge  time
(2) Workdone x time
() _Workdone
Current x time
4 Werkdqnc * charge |
)10. The strength ofmamm: ﬁem inside a long |19,
- cxmtcanﬁngs:raightmicmigiisf: ' .
(h Minimum in the middle
2y , Moreat&emdsﬁ:matﬁwm&e
3) Sameatallpoints
{4 Fomdmmm’ﬁtmcnemdmtbe

4 Acunentoﬂampisdmmbyaﬁiamcmbym

A person cannot see objects distinctly

beyond 2m. msdgfectcanbecmmctedb
which type of the lens and of what power of its.

kept Jos.
the

{H) Cenvex Lens,+05D

{2) ConcaveLens, +0.5D

3) Convex Lens,-0.2D

{4) Concavel.ms -05D

Action and Reaction acccmimg mNemns third )ps.
law acton.

(1) Same body in opposite direction.

(2) Different bodigs msamsdxzectmn

(3) Different bodies i inopposite direction.
4) Samcbﬂdymsamedzmem

A passenger, mammmg&xsmsswacemwmch

falls behind him. Itnmnsthat motion ofthe bus o7
is:

{H 'Unifmm

{2) Accelerated

(3) Retarded

{4) Cim:larmtion ;
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m In which of the following situations the distance p11. %mﬁ@mmmwm@a@
moved and the magnitude of éxspiacement are

- equal? =
(1) A Pendulumismovingtoand fro
(2) Moonis revclvmg aroundtbﬁearth
(3) A boyissitting in moving merry go round
(4) A busismovingonastraightroad.

)12 Oceamherma!emrgyisdu&w:
(1) Energystored by wavesinthe ocean
(2) Pressure difference at different levels in

the ocean.

(3) Tidesarisingoutintheocean
{4) Temperature difference at different levels

inthe oceans.

p13. The major problem in harnessing nuclear
Energyishowto:
{1} Splitnucleus
{2) Sustainthereaction
(3) Disposeoff spent fueisafely -
{4) Convert nuclear energy into electrical

14

115.

116

energy
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113.
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(3) Fadeidfefved ot id
(4) mméfx‘awmma@s
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Among Mg, Mg¥, Al , AP* which will have the
largest and smallest size respectively ?
L Mg* Al

2. Al™ Mg
3. Mg Al*
4 AL Mg»

Which of the following statements about the modern

periodic Table is /are incorrect

| ﬁed&m&mﬂm?ﬁoﬂmpemd&taﬂem

arranged on the basis of their decreasing atomic

number.

The elements in the Modemn periodic table are

arranged on the basis of increasing atomic

masses.

3. Isotopes are arranged in adjoining or different
groups in the Modern periodic table.

4. The elements in the Modern periodic table are
arranged on the basis of their increasing atomic

e

number. :
I 1 only 2 12and3

1.2and4 4, 4only

In Alumino-Thermite process aluminium is used as
I Oxidising agent 2 Ore
3 Reducting agent 4. Catalyst

114

115

116

4) mmwmwm
ufseass |
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T uZfanerwaw g T T T ¢

1. Mg~ A

2 A* Mg
3. Mg, A®
4 Al Mg
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The greater number of water molecule will be in

L. 1§emtoHO

2. 18 moles of water

3. 18 molecules of water
4. 1.8 gram of water

Consider the following equation of chemical
reaction of a metal M

4M+30, - 2M 0,
The equation represents :-

1 Combination reaction as well as oxidation
reaction E

Combination reaction as well as reduction
' Decompostion reaction as well as oxidation
Oxidation reaction as well as displacement
reacton

PR

Identify the correct oxidant and reductant in the
following reaction

PbS +4H,0, > PbSO, +4H,0
PbS - Oxidant
H0, - Reductant
PbS - Reductant
PbSO, E Oxidant
PbS - Reductant
HO, - Oxidant
HO, - Oxidant
HO Reductant

Silver articles become black on prolonged exposure
to air. This is due to the formation of

1. Ag N 2. AgO

A% Ag;S 4. Ag S and AgN

How many moles of NaOH are present in 160g of NaOh
2. 2 mole
3 mole

i; 4 mole
3 1 mole 4,

When a vegetative oil is treated with Hydrogen in
the presence of Nickel catalyst it forms fat
(Vegetable Ghee) This is an example of

1z Displacement reaction

2 Decompostion reaction

3 Addidon Reaction

4 Double displacement reaction

This electronic configuration 2,8,6 represents
element

1. Calcium 2. Sulphur

3 Oxygen 4. Magnesium
The Soap molecule has a

Hydrophobic head and Hydrophobic tail

1

2. Hydrophohic head and Hydrophilic tail
3 Hydrophilic head and Hydrophilic tail
4. Hyitrophilic head and Hydrophobic tai}
pH is defined as
g -Log [HO']

@ - s lhos [HO]

Lo X < .

3. +Log [H][OH]

4. -Log [H]{OH]

Which gas boils out first during fractional
distillation of air.
! \rgon 2. Nitrogen

4. Carhondioxide
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PbS + 4H,0, — PbSO, + 4H,0
PbS - AT
HO0, - UGIEES

; S
PbSO, - wadlaed
PbS = BYIad
KO, - wEHlEEd
HO, . -  waEHEed
HO - JYITA
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1. AgN 2 AgO
3 AgS 4 AgSMIAGN
160g NaOH f<'g f&3 7® NaOH J=at
1. 4§ (mole) 2. 275 (moke) T
3. 1 H& (mole} 4. 3IHE (mole)
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127. Mitochondria and Plastids are able to synthesize

meoftﬁeirpreteiﬁsbecausetheyhave
{1} DNA
(2) RNA

(3)  DNAandRibosomes
(4)  RNAandRibosomes

128. Which of the following statement is carrect about
‘Cardiac Muscles.

(1) Cardiac Muscles are umnucleate ami -

Unbranched.

ﬂ(?_) Cardiac Musc_les are Mui&nuclea&e and -

Unbranched.

(3) Cardiac Muscles are unmacieate and

branched. : o :
(4) Cardiac Muscies are Ma;ltimclmte and
129. Tke correct m!hmy of Ialood in cuwiatory
systamxs

{1 - Auﬁcl%»%&icies#wy ——>§éins
(2)  Ventricles—>Auricles —>Veins->Artery
(3)  Ventricles—> Veins—>Auricles—>Artery

 (4)  Auricles—>Artery->Veins—> Ventricles

130. Wﬁichmnfﬁzefaﬂowﬁ;gismimmmmﬁ.

(1)  Ovary—Estrogen
{2)  Pancreas—Insulin

() Pituitary gland-Adrenaline
(4)  Testis—Testosterone.
1 31. Concentration of urine depends on the presence

- ST S

(1) Thymxme
2) - Tmosmme ; s _
(3)  ADH(Antidiuretic hormone)
(4) Melatonin =~ ;

| 32. Which leaves have paralle venation.
(1) Pecpalleaves
p o :
3) Bmlmws
{4) ABmmhvm
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133. Which of the fs_}fowing equation is the summary 133, 35 mm& ﬁg?ﬁ*m YEH ARSHE T WY
ofphotosynthesis. | | ¥

Croroph () 6CO,+iZH0——>CH,0,#60,+GHO
0 KO HOGR> ‘;’;’gj CH.0,+60,+6H0 , g

B O HMO— > CHO a0 D TORMIA s GHG,000, MO
‘ Chlorophyll 60, + a0 TR, 0,+60,+6H,0
3 8C0O,+8H,0 W CH.0,+60,+6H0 &) 3 z Wc&ﬂﬂ §HO |
@ scoﬁﬁze--——‘_»%oﬁwzfsap . @ m%&;———-———* = CH.0,+60,+6H0

\34. The breakdown of Pyruvate to give Carbon |34, yfeg@edfeiss 5 areus sehrands, w2t
dioxide, water and energy takesplacein ... ... ' '

» 3 g Qe S A yfsfafow .. fFg Taet
(1}  Cytoplasm (2)  Mitochondria. E | -
(3) - Chloroplast - (4) - Nucleus 1) Wl (2) weassd
' - ) wEwR (4 fegaEhm
135. Choose the correct statements. ) 135, ptEEs T EEEs:
(1)  Thefemale gameteiscalledzygote. e ' ; o
" (2) Twinsarealways Identical. ! {1) WWIE;WE’EN
(3)  GregorMendelisthe fatherof Genetics. ~  (2) T T RaMITETI
(4) In human beings sex is determine by  (3) JEwhEEEWEEERIrTrfugrfaTraterd
presenceof X and Y Chromosome - (a) fEafsages wpufeaX w3 Y yengs
- ' ; - | = a9

{1)  Statement | and 2 are correct.

(2y  Statement2 and 3 are correct. : ‘

(3)  Statement3and4arecomect. (1) MLQQZHQHKE

{(4)  Statement | and4are correct. : 2) TES2WI3IRRTE

‘ | (3) TEEIUIARRTIS |
{4) 85 1MITARAIE

136. The nature of nerve impulseis............... 136, WA (Nerve impulse) ST EF . 3O |
(1)~ Chemical | | (1) owfefes
(2) Magnetic AR 2y dmlt
(3}  Electrochemical (3) fonsdtorelea
(4)  Electromagnetic ' (4) ﬁ;;ge‘tg‘"aa’?

1 37. Which of the following are called “Amphibians ;37 35 f&‘&w ¥ faw § “der vars © AoESt #i”
of plant kingdom™ . Wwﬁ?
(1  Bryophytes = (2) Preridophytes (1) wiegede (2) CIETET

i‘ 3} Thallophytes (4) Gymmosperms = : 3 :
b {, 0? (3) &8eEe (4y Fenedwuew -




|38.Tthenmefsemeefsmeﬁinbrainis: - ?
(1) Midbrain  (2) Olfactory lobes 1 mm o fueis !
(3) Cerebellum  (4) Cercbrum (3) HdtEE (4) PN
}39. A tissue which makes up the husk of coconut and \39,@3?’2‘533@{8?@7‘ - o
whose cellsare dead, elongated and lignified s - o fia, 8997 lignified T 8T v ,
(1)  Chlorenchyma (2)  Collenchyma (1) aBIEIENT @) W »
(3) Parcochyma  (4)  Sclerenchyma (3) IEEETENT (4) FIBIEIET
. 140. 3 i T 1 ey €T 59 UHES
léﬁ.Whichof;ﬁefaﬁeﬁringisnotapartﬂfmaie ,m,aafgﬁnffe?ffwmm‘ :
repmd\mtivesysteminhumanbeing‘ yEEterFErad ‘ L
| P W @ @) - Teedd
(T s evw (3) maoEefost (4 EBUmisieSE
(3) Vasdeferens  (4)  Fallopiantube ) HEEE
imr IfT3—~4‘—X:y-]+—l~- )y wET 13_2+>H},Tae’m
Where x, y, z are inte%gers, then the value of x+y+z ‘ X, y "3 z iy Af ZU‘S 3t xbytz T T2
o 1) 6 ) 2) 8
57 o 2 7 ) 3
) 42 99 Sin x=Cos’x T2 3 Cos’x (1+Cos’x) T K
142 If_?ligx=Cos‘°x,thc:nthevalueofCoszx(H—Coszx) 142 3€'Hrr|mx o8 % 0s’x (1+Cos’x
will be 15 | R
! 2) 0 3 2 : e
3) 2 4) -1

) 3 Ifoand B are roots of a(x’~1)+2bx=0 and the
quadratic equation whose roots are 2a- - and

23-(1— is px2+qx+r=0 then p+q+tr is equal to

1) 2b 2)  6a-8b
' 3) 6b-8a 4 0

If'S, denotes the sum of first n terms of an A-P, then

1M thevalueof (S, -S,.,)- (S-S, )] will be
1) S,-S,, 2) nd
3) 0 4) 8,-S.

. Twodice are thrown at the same time and product of
|'1$™ numbers appearing on them is noted. Probability
that the product s less than 9 will be

D 5 2 =5

3) %g— 4) —g—

If Arithmetic mean of numbers x,, x,, X,, X,, - x_ is X
than Arithmetic mean of numbers ax,tb, ax,th,
ax,+b, ---, ax,+b where a and b are constants, will be
D x 2) nax+nb

3) ax 4) ax+b

The average score of boys in class X in an exam is
71 and that of the girls in that class is 73. If the
average score of class X in that exam is 71.8 find the
ratio of number of boys to number of girls in that
class.

I) 1:2 2)
3) 2:3 4)

\ué

lu?

2:1
3:2

\47

138. foyarfeodndises o a el [auaTy?

Y43 € WS migeE a(x’-1)+2bx=0 & T o w3 Baxi
ﬁara@a-erwﬂmaaz-,m@fnma-%mézp%
T, pX+qx+1=0 T2 F* pqtr T WE T29T|
1) 2b 2)  6a-8b
3) 6b-8a 4 0
ﬁmsnhﬁAPéuﬁ%xL@'@ﬁsasﬁé?QHAP
VM m(S,-S,.)- (S, - 5., ) Jer i aar
1) S,-S,, 2) nd
3) 0 4y S,-8,
oo ?W(dice)@@&%%ﬂ*@ﬁ,mm
Y5 T ITHET s TA T TIfTrgeses e 9 Fueie

S AgT=sTI=9h

1y - . 3
36 ) 9

3) 26 &) 9

A X %0, % x, TR SR s X
\ué Fftprrat ax +b, ax.+b, ox, b, ... ax,+b, iy aowd
b Afae e &, o e gfsss vovrs 297
1) ¥ 2} pax+nb
3) ax 4) ax+b
fai iferr feg mire evet & mafeont @ wing W 71
T& M3 SIAHT & ning il 73 T g @ ifipnr g
et T3 € g% fefenragnt & ning wig 71.8 3= 3
m%mﬁmém?mwaﬁ
1) 1:2 2) 21
3) 2:3 4) 32
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The altitude of an equilateral triangle is pcm. The
area of this triangle is

1) plem’ 2) \%pzcmz
2
L , ,

3) 3 cm 4) \E plem’

The sum of all two digit natura! numbers which are

Y givisible by 7is
1) 743 2) 700
3) 728 4) 735
N \ <o The difference between two numbers is 1365. When
The larger number is divided by the smaller number,
the quotient is 6 and remainder is 15. Find the
smaller number ’
1) 240 2) 270
3) 295 4) 300
11 1£75% Qf a number is adde_d to 75, then the result is
number itself. The number is .
1) 50 2) 60
3) 300 4y 400
,'S;L, Find the product of
3B RCERR Gz
DI ERE RO E 943

. The sum of the ages of 5 children born at the

b intervals of 3 years each is 50 years. What is the age
of youngest child ?
1) 4years 2) 8years
3) 10years 4) 12years
|sY- Which of the following trains is the fastest ?
1) 25m/sec 2) 1500 m/min
3) 90km/sec 4) 100 km/sec
|ss» if y=5, thenwhatis the value of 10y. |y3—yZ ?
1) 50_ 12 2)100 3) 200 ]5 4) 500
)s¢ Themeanof 1>, 2%,3%,4°, 5%, 6", 7', is
1) 10 2) 20
3) 30 4) 40
{57 Simplify
3 2 + 4|64 + 412500 + 6|8
: 3]7 32 Hn 4
D2z 2ndj2 332 AING
)sg. AD is bisector of ZA of AABC, which meets side
BCatD.IfBC=Kcm, CA=/cm,and AB=mcm,
then the length of DC (incm) is
KI K(m+1) Km K(m+l)
b m+l 2) / 3 m+l Y m
)$9. If area of a sector of circle bounded by an arc of
length 5m cm is equal to 207 cm’ then its radius (in
cm)is
1)12cm  2)16ecm  3)8cm 4) 10cm
|60 In right angled triangle AABC, £B=90°, AB=5cm,

BC=12cm, then the area of in circle of this triangle
ABC will be-

dnem’  2)2mem’ 3)13mem’ 4) 17ncm’

. feamsH fggw e frugdst & Sodt pad 3189 397
\HE erirgges 73a) -

1) . p'idt 2) J_g_pzﬁ}ﬁ:
3 P B

YU gt Aot & it St e e, wig 7
B yahut Fit AT I, B g I39!
1) 743 2y 700
3) 728 4) 735

& Afiprret fegard w39 1365 T AC 51 Aftm § &1

5l ffepyT &7 graT fee IF 3T IIRS 6 M3 FaT 15 g9er
TIEAftmruzTad)
1) 240 2) 270
3) 295 4) 300

)ﬁ'r' g fa s = 75%, 75 feg afswr are It sIiH
i @t Aferr yruz 5@ 3 AT u3TET |
1) 50 21 60
3) 300 400

4)
pS2 3|3 L¢3 1243 2T TG U A |
D3 23 H43

L FEE RS EWETsTS Aay 5 gfet etmt Grgter 5F 50

)S3 . ‘ >
AETing 3 Ev e & Gurat gai ?
1) 4°7% 2)  SHE
3) 10 4)  12A%

Jsy I foiit fed fao SgarstAg I 3AT<an ?
1) 25Wi/Rfas 2)  1500/fise
3) 90 fa vt/Aféas 4y 100 fat/Afés

)SS. FE@Y=5T 3 lOy\ij';fT ey Bt aEar?

) 502 2100

1),2,3%,4,5,6, 7 @ HOHTE J=ar ?
1) 10 2) 20
3) 30 4) 40

AaB a3 :
412500 + .6|8

3\P—+ W|
hn 2z a3z 3P CINER

AABC fEg AD, AT mvEgwa J, A fa gA" BC &
fdg D €3 aeer 91 Aa@ BC=K M, CA=[ A1, M3
AB=m AH & 7t DC & $urdt (v fem) I<att|
1y KL o Kmt) gy Km g Km Ul

m+l ! m
fit gag t fe'q vy o Suret Sn it T Raa fegary
ma‘aa%w@a@mﬁwﬁrﬁsw&ammn
om’ 52 3+ gag g fen S Suvet 3=t |
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) %) Why was the Vietnam was called the first television
war?
1) Brought home stories from soldiers
2) Ledtoincrease sale of television sets
3) Battle scenes were shown on daily news
4) Television was invented. '

Who said these lines “whether 1 am a Hindu, a
Mohammedan, a Parsi, a Christian or of any other
crecd, lam above all an Indian. Our country is India.
Ournationality is Indian.” :

1) DadaBhai Naoroji

2) Surenderanath Banerjee

3) Gopal Krishna Gokhale

4) Pherozeshah Mehta

Under which rules the sculpture of four lions was
builton Sarnath’s Pillar?
1) Samudragupta
3) Chandragupta

)82

)63

Ashoka
Harshavardhana

2)

4)

)5\, Who was the LastViceroy of India?
1) LordClive 2)  Warren Hastings
3) Lord Lows Moustbattend)  Lord Canning

,'55 To whom, Guru Gobind Singh Ji had written
Zafarnama? ~
I) Babur 2} Aurangzeb
3) Humayun 4} Jahangir

) &¢. During India’s freedom struggle which one of the

following led to the first ‘All India Hartal*?

1) Protestagainst Jallianwala Bagh Massacre
2) Protestagainst Row LattAct

3) Trial of Mahatma Gandhi

4) Arrival of Simon Comraission

In 1878 the Vernacular Press Act was modelled on
the-

1) French Press Laws
3) IrishPressLaws

167

2) British Press Laws
4) Scottish Press.Laws

In IMF and World Bank, the decisions are taken by-

168 .
1. developing nations
2. a joint council of developed and developing
countries

3. Western industrial powers
4. least developed nations

169 What led to town planning of the city of Bombay in
1880?
1. The social tension
2. Poverty
3. Fearofplague epidemics
4. Riots |

)70. Which of the following novel deals with caste
oppression?
1. Sultana’s Dream 2. Indulekha
3. Saraswati Vijayam 4.- Padmarag

) 7) Who described Mazzini as ‘the most dangerous

enemy of our social order?
2. Duke Metterinich
4. Lord Byron

L. Victor Emmanuel 1
3. Johann Gottfried

62
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] 72- Who was the Chairman of Dt fti i
Who was the Drtifting Committe
Indian Constitution : e

1. MotiLal Nehru 2. Jawahar Lal Nehru
3. B.R.Ambedkar 4. Rajender Prasad

|23 Which of the following i i
Z i o wing is a big challenge to

1. Leaders
3. Elections

2. Political Parties
4. lliterate Citizens

k ,,’ Wtch of the following is not the. guality of ideal
citiens :-
1. tood health 2. Patriotism
3. Dlerance 4. Illiteracy

B! <, Seatare reserved for women n:-
1. Prliament

2. Pachayati Raj Institutions

3. Sate Legislature

4. RjyaSabha

174 - Whiatype of government is a federal governments:
1. Catre and State Government

2. Got. of two States

3. Cerre and two State Government

4. Cenre and thiee State Government

How nary state g0wernments are fusctioning in
India:-

1.7 2.18

3.13 4. 29

Ansrdiniry billis represented in :-

177

|78
.1, PajyeSabha

.ok Sabha
~ Any house of Parliament
1. Rajya Vidhan Sabha

129, Who is the constitutional head of India?
1. King 2. Queen
3. Prime Minister 4. President
Which of the following is not the National poaly -
1. Shiromany Akali Dal
2. BhartiyaJanta Party

180

3. Indian National Congress
4. Bahujan Samaj Party
|8} India is a federal state because :-
1. Dualjudiciary
2. Written constitution
3. Dual citizenship

4. Share of power between centre and state

} &2 GDPcanbe WIEHEI AS ceveveeeeveeveeveareaniens
1. General Domestic Product

2. Gross Domestic Product

172 393t Afeurs e wieT 5iet @ yors S me?
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1. Jaft fRge 2. HFAT
3. AfgeHigs 4. MBEUZFI"
| 7S, Mot BE B tefemt® fas fam fee gruaimit Hiet
IJs?
1. ARE
2. grfedtaa meg
3. gAfeus rar
4. THRIT
V. frurafie Aear (@ s fagaut aera Johut a5

1. IEIITHAIAT

2. EgrHt e Hgad

3, FegFTIA GRS
4. FeI3 fEs FrAgas

Vg, Fa3 feE faatn IR d: Qnid g™ It
1. 7 2. 28
3.13 4. 729
|79 FuraE faw umatET
1. IERIT
2. SIHTT
3. freefaddnes ey
4. g feus Ae™
)79. gagerifersa i aE
1. @ 2. gt
3. yuraH3dl 4. grAeaudl
)8p T5 fafint f&F faum THZY AT I TF Wt
a7
1. RSt Bl 2% 2. FTaYT AU

3. fegtne Grmmatomr 4
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N " .
3. Gross Development Product . 3. g5 feam B3y

4. General Development Product 4. voa% feam G3ure
1 83. ForeignTrade............................ )3 feddtayg
L. Increases choice of goods 1 g &t g 5 srder I
2. Decreases price of goods -2 Fot S AT & wergar g
3. Increases competition in the market 3. EW;?:F:;“-H yo(rgza;;g Foger 3
4. Decreases carnings. 4. gyt §'4’8T@T:T z"; |
|8Y . COPRA full form is )8Y. COPRA & fema~ 5 fug|
1. Co-ordination Protection Act , 1. IBNE Y T55
2. Co-education Protection Act 2. Afg-fafor foue ads
3. Co-operative Protection Act : 3. AfgaTa3T fgye ads
4. Consumer Protection Act ‘ 4. QUSTI=T Fowe TES
}8S. Which of these notes are issued by finance |8S. fdgaT &2 3793 maare & feg H3TTET ey
department of Govt. of India. At Fgrgrary?
1. %500 2. %100 . X500 2. 3100
3. 32000 4.7 = % 2000 “ e
_ FSJ.UBTWETW%%fB‘WfQ%‘faﬁTﬁ'?
| 86, Whatis the impact of Green Revolution, . == 97 =0 famr
1. Forestareaincreased ) ger YEHE uz fapr)
2. AirPollution decreased 3. q=9 T §3ures =7 faprr
3. Wheat Production Increased 4. EU T Q3ures W fapnm
4. Milk Production Increased 127, — T T P
| 87.. Globalisation was stimulated by :- farr wt? ’ :
1. Money 2. Transportation 1. Hegr 2. Tt
3. Population 4. Computers 3. AGHTtHT 4. gfugea
[ 881 ACONSUMET ... )88 feaQuserar ...
L. Sells goods and services. 1. AP I Aeret @ger )
2. Buygoods and services. 2. AP WM RErEi ydtweT T
3. Produces goods and services. 3. AT I ATt T @gues geeT )
- 4. Delivers goods and services. 4. W”@ﬁ?@@mﬁmﬁl
|89 Whatis the time-period of 12th five yearplan? 189, Tg= I st e &AM e a7
1. 2002-07 2. 2007-12 1. 2002-07 2..2007-12
3. 2012-17 4. 2017-22 3. 2012-17 4. 2017-22

H
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Which among the following does not belong to the
list of leading sugarcane producing states?

1) UttarPradesh 2)  AndhraPradesh
3) Madhya Pradesh 4).  Maharashtra

In which Union Territory maximum area is under
forest?

1) Dadra and Nagar Haveli

2) Andamanand Nicobar Islands
3) Delhi

4) Puducherry

Which agent causes the formation of V-shaped
valley?

1) snow 2)
4y  water

wind

3) birds and animals

What type of soil is also known as “Teasoil’.
2) marshy soil
4) saline and alkaline soil

1) mountain soil
3) desertsoil

Which of the following state has the highest density
ofroads?

1) Goa
3) Kerala

2) Jammu and Kashmir
4) Haryana

What is the extent of ‘ Tropical Heat Zone’?
1) 23%° Northto23%:° South
2) 23%° North to 66Y%° North
3) 23'%° Southto 66%2° South
4) 66Y:° Northto 66'2° South

For which of the following industry, ‘Dhariwal’ is
famous as an important centre/place.

1) Cotton Textile Industry 2)  Woolen Industry
3) Jute Industry 4)  SilkIndustry

Which of the major port of India is located in

Sundarbans Delta?
1) Kandla 2) Mumbai
3) Chennai 4) Haldia

)90
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19R.-

AT d?

1) €syEn 2) wOETYER
3) HOyew 4) WJIHET

fargegAs yerfeong I EUITHIII?

1) TETnI SIgIRET
2) WEHE e fades U

3) fe'st

4) ygedt

V-nrarrg (@-nravg) @t wdt @ fsane faw ared
omrargerd?

1) "398 . 2) T

3) Ugtm3IAa<e 4) yet
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2) 23%°€gaT 66" E39
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1) pRrauET GeE 2) garauzgetEr
3) yews Geta. 4) IavQeter
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1) aEE 2) yeEet

3) 95E 4) THEMAT



198 Which of the following place is influenced by )92 & fient fe5 fram Fas @t HFel 351 o et

retreating or eastern monsoon? - Y
1) Amritsar 2)  Chennai Hfzgﬂxa’qa"fayg?a’?
3) Mumbai 4) Shimla b b 2 wd
3) yeet 4)  fawmr
Ja9- Which of the following states are the major -
products of copper? 199 I fafimt fe8 faos 8 v Gaueasmas?
I) Rajasthan and Madhya Pradesh 1) IHRES IHTYRR
2) Odishaand Rajasthan 2) €S I gmmEs
3) Maharashtra and Gujarat 3) WITHST 3 TRII
4) Madhya Pradesh and Gujarat 4) HOURRIgmes

‘200 AT T YIRS fagT a7
1. ll4=garfadies =
3. 10140=garfadiiey 4

2.00 Whatis the area of Chandigarh? 7
2. 1014 sqkilometre

1. 114 sqkilometre
3. 10140 sqkilometre 4. 50362 sqkilometre
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